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(i)

(iii)

—
NOTE :

Please check that this question paper contains 8 printed pages.

Code number given on the right hand side of the question paper should be written on the title
page of the answer-book by the candidate.

Please check that this question paper contains 32 questions.

(iv) Please write down the serial number of the question in the answer-book before attempting it.
(v) 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the question
I paper only and will not write any answer on the answer-book during this period.
POLITICAL SCIENCE
r_Time allowed : 3 hours Maximum Marks : 80
—

General Instructions :
Read the following instructions very carefully and strictly follow them :

(i)
(ii)

(iii)
(iv)
(v)
(vi)
(vii)

Question paper comprises six sections —A, B, C, D, E and F. All questions are compulsory.
Section A — Questions no. 1 to 16 are Multiple Choice Questions (MCQs), carrying 1 mark each.
They are required to be answered in one word only.

Section B - Questions no. 17 and 18 are two Passage based Multiple Choice Questions (MCQs),
carrying 1 mark each for every sub question and 4 marks for the whole question.

Section C - Questions no. 19 to 22 are Very Short Answer Type Questions, carrying 2 marks
each. Answers to them should not exceed 40 words each.

Section D - Questions no. 23 to 27 are Short Answer Type Questions, carrying 4 marks each.
Answer to them should not exceed 100 words each.

Section E — Questions no. 28 and 29 are Map and Picture based Questions, carrying 5 marks
each to be answered accordingly.

Section F - Questions no. 30 to 32 are Long Answer Type Questions, carrying 6 marks each.
Answer to them should not exceed 150 words each.

(viii) Answers should be brief and to the point and the above word limit be adhered to as far as

(ix)
(x)

possible.

In addition to this, separate instructions are given with each section and question, wherever
necessary.

There is no overall choice in the question paper. However, an internal choice from the same unit
in one question of one mark, one question of two marks, two questions of four marks and all
questions of six marks. In such questions answer only one alternative and do write (a) or (b) with
question number.
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SECTION A

1. Which one of the following is not a Baltic Republic ?
(A) Estonia
(B) Ukraine
(©) Chechnya
(D) Georgia
2. The President of which one of the following Republics appointed himself to power, first
for ten years and then extended it for another ten years ?
(A) Uzbekistan
(B) Chechnya
(®) Lithuania
(D) Georgia
3. Which one of the following statements about the European Union (EU) is not correct ?
(A) The EU is the world’s biggest economy.
(B) The EU’s combined Armed Forces are second largest in the world.
() The EU has its own flag and anthem.
(D) The EU does not enjoy any political and diplomatic influence.
4, Which one of the following statements about the ASEAN flag is not correct ?
(A) The stalks shown in the flag represent ten South-West Asian countries.
(B) These ten stalks are paddy stalks.
(@) The circle in the flag symbolises the unity of ASEAN.
(D) The bundle of ten stalks bound together represents friendship and solidarity of
the members.
5. Which one of the following statements about present-day Nepal is correct ?
(A) It is a Hindu state.
(B) It has monarchy.
©) It is a secular state.
(D) There is no parliamentary system.
6. Which one of the following developing countries was the first to successfully control the
rate of growth of population ?
(A) Bhutan
(B) Pakistan
(©) Nepal
(D) Sri Lanka
7. Identify the UN Agency that also works in the cultural field.
(A) UNICEF
(B) WHO
©) UNHCR
(D) UNESCO
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10.

11.

12.

13.

14.

Which one of the following members of the UN Security Council has used its Veto power
the maximum number of times ?

(A)
(B)
(®)
(D)

United States of America
USSR/Russia

United Kingdom

France

Who among the following leaders is known for the strategy of ‘Non-Congressism” ?

(A)
(B)
(®)
(D)

(a)

(b)

Jayaprakash Narayan
Ram Manohar Lohia
Morarji Desai

L.K. Advani

Who among the following leaders was not a minister in Jawaharlal Nehru’s
Cabinet formed in 1948 after independence ?
(A) Maulana Abul Kalam Azad
(B) B.R. Ambedkar
©) Sardar Vallabhbhai Patel
(D) Mahatma Gandhi
OR

Who among the following Prime Ministers of India nationalised the banks ?
(A) Morarji Desai

(B) Lal Bahadur Shastri

(©) Indira Gandhi

(D) Jawaharlal Nehru

Which one of the following statements about globalisation is correct ?

(A)
(B)
()
(D)

Globalisation began due to disintegration of the USSR.
Globalisation has caused worldwide interconnectedness.
Globalisation is only an economic phenomenon.
Globalisation has led to different wars.

Which one of the following statements is a cultural consequence of globalisation ?

(A)
(B)
()
(D)

Blue jeans can go well with a khadi kurta.

In most of the cases, the State capacity has eroded.

Import duty has been reduced.

Investors of rich countries can invest their capital in developing countries.

From the following, who gave the famous slogan ‘Jai Jawan Jai Kisan’ ?

(A)
(B)
©)
(D)

Indira Gandhi

Lal Bahadur Shastri
Ram Manohar Lohia
K. Kamaraj

Which one of the following systems was not promoted by Pandit Deendayal
Upadhyaya ?

(A)
(B)
(©)
(D)
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Western system

Classless system
Casteless system
Conflict-free social system
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15. Which one of the following statements about holding Lok Sabha elections in 1980, much
before the completion of five-year term, is true ? 1
(A) The Janata Party split and Morarji Desai lost majority.
(B) The Janata Party could not keep its constituents together.
(@) Due to withdrawal of support given by the Congress Party, Charan Singh’s
government had to resign.
(D) The Janata Party lacked direction, leadership and a common programme.

16. Who among the following leaders was the first non-Congress Prime Minister of India ? 1
(A) Atal Bihari Vajpayee
(B) V.P. Singh
©) P.V. Narasimha Rao
(D) Morarji Desai

SECTION B
17. Read the following passage carefully and answer the questions that follow : 4x1=4

The consequences of globalisation are not confined only to the sphere of politics and
economy. Globalisation affects us in our home, in what we eat, drink, wear and indeed
in what we think. It shapes what we think are our preferences. The cultural effect of
globalisation leads to the fear that this process poses a threat to cultures in the world. It
does so, because globalisation leads to what is called cultural homogenisation. The rise
of a uniform culture is not the emergence of a global culture.

171  Which one of the following statements is a consequence of cultural

globalisation ? 1
(A) It narrows down the scope of social justice.
(B) There is increase in the momentum towards inter-dependence between
governments.
©) Our food choices have increased.
(D) It results in an erosion of state capacity.
17.2  Cultural homogenisation means : 1
(A) rise of global culture.
(B) rise of uniform culture.
(©) rise of different cultures.
(D) rise of a distinctive culture.
17.3  Identify one positive consequence of cultural globalisation. 1
(A) It leads to the shrinking of the cultural heritage of the entire globe.
(B) It spreads western culture in the whole world.
©) It modifies our culture at the cost of our traditions.
(D) It widens our range of choices in various fields.

174  Which one of the following statements is a consequence of -cultural

globalisation ? 1
(A) It affects us in what we eat, drink and wear in our homes.

(B) Our thought process remains unaffected.

©) It leads to economic ruin for the developing countries.

(D) International organisations become weak.
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18.

19.

20.
21.
22,

Read the following passage carefully and answer the questions that follow : 4x1=4

One of the most important concerns in the early years was that demands for separate
states would endanger the unity of the country. It was felt that linguistic states may
foster separatism and create pressures on the newly founded nation. But the leadership
under popular pressure, finally made a choice in favour of linguistic states. It was hoped
that if we accept the regional and linguistic claims of all regions, the threat of division
and separatism would be reduced. Besides, the accommodation of regional demands and
the formation of linguistic states were also seen as more democratic.

18.1  Which one of the following states was the first to be formed on the basis of

linguistics ? 1
(A) Manipur
(B) Andhra Pradesh
©) Mysore
(D) Madras
18.2  What was done by the Government of India to redraw the boundaries of states ? 1
(A) The matter was put before the Supreme Court to decide.
(B) Plebiscite was held in all the concerned states.
©) Appointment of the State Boundary Commission was made in 1956.
(D) States Reorganisation Commission was appointed in 1953.
18.3 How many States and Union Territories were created immediately after the
reorganisation of the states ? 1
(A) 14 States and 6 Union Territories
B) 16 States and 7 Union Territories
©) 18 States and 6 Union Territories
(D) 21 States and 7 Union Territories
18.4  Which one option completes the following sentence correctly ? 1
The reorganisation of states on the basis of linguistics led to
(A) disturbances and unrest
(B) the opposition to the formation of linguistic states
©) the acceptance of the principle of diversity
(D) changed nature of politics in India
SECTION C
Analyse the outcome of the severe conflict that took place in the Balkan Republics of
Yugoslavia. 2
Why is the NITI Aayog called a “Think Tank’ of the Union Government ? Explain. 2
Highlight any two main objectives of constituting the NITI Aayog. 2x1=2
(a) Highlight any two major changes that took place in the Indian politics after
2014. 2x1=2
OR
(b) Explain the basis on which the Bahujan Samaj Party emerged as a formidable
political force. 2
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SECTION D

23. “The Soviet system, however, became very bureaucratic and authoritarian, making life
very difficult for its citizens.” Support the statement with any four arguments. 4x1=4
24, “Pakistan government is continuously working to disturb peace in India.” Support the
statement with the help of any four examples. 4x1=4
25. Explain the circumstances that led to the accession of the Princely State of Hyderabad
to the Union of India. 4
26. (a) Describe any four reforms of the organisation’s structures and processes that are
considered necessary for the UN after the Cold War. 4x1=4
OR
(b) Mention any four criteria that have been proposed for new permanent members
of the UN Security Council. 4x1=4
27. (a) Explain any four significant changes that have taken place in Indo-China
relations since the end of the Cold War. 4x1=4
OR
(b) Explain the role of the BJP-led NDA Government in the growth of relations
between India and Israel. 4
SECTION E
28. In the political outline map of India given on page 7, five States have been marked
as @), B, ©, D and ®. Identify these States on the basis of information given below
and write their correct names in your answer-book along with the respective serial
number of the information used and the concerned alphabets given in the map as per
the following format :
Sr. no. of the Concerned alphabet Name of the
information used in the map State
(1)
(i1)
(ii1)
(iv)
v)
(1) The State from where Prime Minister Narendra Modi has been elected as a
member of Lok Sabha in 2019.
(i1) The State where Somnath Mandir is situated.
(i1i) The Union Territory which came into existence in 2019.
(iv) The State where Chief Minister Karpoori Thakur had introduced a new policy of
reservations for OBCs.
(v) The first State to be created on the basis of linguistics in the year 1952. 5x1=5
59/1/1 Page 6



For question no. 28
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Note : The following questions are for the Visually Impaired Candidates only, in lieu of Q. No. 28 :

(28.1) Name the Prime Minister of India during 1989 — 90 who belonged to the
National Front.
(28.2) Mention the Article that had given special status to Jammu and Kashmir.
(28.3) Name the first Prime Minister of NDA led by the Bharatiya Janata Party.
(28.4) Name the founder of the Bahujan Samaj Party.
(28.5) Write the full form of UPA. 5x1=5
29. The cartoon given below is related to the victory of Indira Gandhi in 1971 elections.

Study the cartoon carefully and answer the questions that follow :

(1)
(i1)

(iii)

Why has the cartoonist shown a very big cup in the hands of Indira Gandhi ?

What has been depicted by the cartoonist by showing a man with a bowl peeping
out of the cup ? Explain.

What message is being given by this cartoon ? Analyse. 1+2+2=5

Note : The following questions are for the Visually Impaired Candidates only, in lieu of @. No. 29 :

(29.1)
(29.2)
(29.3)

30. (a)

(b)

31. (a)

(b)

32. (a)

(b)

59/1/1

Who gave the slogan ‘Garibi Hatao’ ?
Why were the ‘Privy Purses’ abolished ? Write any two reasons.
When was the dominance of the Congress Party restored for the second time

and how ? Explain. 1+2+2=5
SECTION F
Give any three arguments to justify the imposition of Emergency in 1975. 3x2=6
OR
Analyse any three developments that gave rise to the confrontations between
the Union Government and the Judiciary of India. 3x2=6
Why is the end of the Second World War called the beginning of the Cold War ?
Explain any three reasons. 3x2=6
OR

What has been the main criticism against India’s Policy of Non-alignment ? In
spite of being a leader of NAM, why did India sign the Treaty of Friendship with

Soviet Union in 1971 ? Explain. 3+3=6

Show with the help of any four examples that the leadership of China changed

their policies to reform the Chinese economy. 4x1 3 =6
OR

Show with the help of any four examples that India has tried many
confidence-building measures to reduce tension and risk of war with

. 1
Pakistan. 4x1 3 =6
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10.

11.

12.

13.

14.

Y TP FL& IRug o MHfciad Teeil § | ford T e 4 191 diel vt 1 Afeeshad I)

T foRaT 2 2

(A)  GgE TsT THRH
(B)  @ifewd gu/ed
C)  forem

D) %™

frafafea o @ F-ar Jar R-wEare’ 6 wHifd & fore ST ST g 2
(A) SIIYhTT AT

(B)  TW WIS @rfgan
(C) AR <
(D) A HW7 HrSaft

(a) frafafga @ @ SF-A1 a1 JaTetad g€ % Tadadr uvE 1948 § o9 Afbed § U

i 787 or ?

(A) T A el TG
(B)  1.3TR. 37

(C)  TGR Jgy¥E 9ed

(D)  waTeAr Tief
areaT

(b) frafafea o @ wra & fopa gum wht 3 St 1 AP foRam ar ?
(A) nﬁwﬁé%'réw
(B) S WEIg
(C)  sfequ e

(D) ST s

frmafefaa § & i9-a1 s Jyaiehtor & a1 H ¥E 8 ?

(A) TR 1 YT Alfodd €9 o fa€ed o SR 53 |

(B) iRt § favasardt qREae Je 3¢9 g1 © |

(C) ATl had Ush 3MTeh TET B |

(D) SR % HRU g IG BT |

At & @ SF-81 HoF TR0 T AR TR & 2

(A) et S % Ty @I w1 Fal TS Al @ |

(B)  SfockI™ HIAQ W, TSH <l &A1 1 &L g1 8 |

(C)  oTTd Yook H Al 378 27 |

(D)  oFTes ¢un o fawres taht doft foreprarsfiar <o # @ wehd @ |
Frafafiaa & @ e S Sem s fopam =1 ufirg wmo feam on 2

(A)  3fu e

(B) I STgIgL AEAt

(C) W I dltean

(D) . HES

gfed deara 3uea | f=fcfiaa @ @ for sgazen =1 sgren 757 feam o 2
(A) =T A&l

(B)  aifadie saaer

(C)  rfafad= sz

(D)  TuY-geh TS SHTE
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15. fmAfafad # @ wF-a1 FeA 1980 H, U= a9 H1 HRHA U 8 & Sl T8el, i 99T o A1
HEH h T H THT 2 1
(A) ST e | faWTSH o RO AR GHTS 1 SgHd SHTE 81 T |
(B) ST U TU4 H<h Al bl TS T8l T Tehl |
(C)  hiUg 9Tt grr wmed amad fo7T ST o T, =or {98 6l TR’ ol SI-99 <1 ISl |
(D) SHar 9 | foum, Aqgea aen sk |re wm et off |

16. Tyafafaa Jamet & @ 9, YA 1 I8 IW-hUE Jo= 9= o ? 1
(A)  37ea fegrdl arrueft
®) . e
(C) Wt " e
(D)  HREST ¢HTE
feLcke)
17. freafafaa stadwr i samydes afeu a9 3aeh 3 fgu T wei & I i 4x1=4

Jyaitertur o gitom Tk amfdes 3t Toiifaes el | & T9R T8 371d; g9 B H o3 B a9 W) sEeh
TUe H BId 8 | B9 I $ Wd-HId-T81d & AT Gred § — T T 3T T o) AT 8 | 81
S a1l Tt T8E FEd & F 91d off SveiRtur o TR W aF Bl & | ATl % |k
THTEl 1 @ BY 3@ W i g e B b T8 ufshan fowd < weepfaai i w@au g |
JTIRUT F A BT & Hifeh JTSIhIUl HEhideh THETAT of 7T & |

17.1 F=faRad § & HH-A1 U Fihiaeh oveihiol S TRUMH 7 ? 1
(A)  3HY MRS A 6 FUTEHT S Bl B |
(B) TN o off" Sr=A=airen <l i # gfg Bl 2 |
(C)  BUR @H-IH i =Sl 6l G §¢ ATt 3 |
(D) 35 IRUMHEEY T <l &Wal 7 Bidl 2 |

17.2  GIHideh GHETA § F1 AN § 2 1
(A)  dfvas wERld =1 3¢
(B) U Sl &R h1 3T
©  fafie aefaat o 3e
(D) T fomy wEhf w1 3

17.3  HIEH{dh JTTHT o Teh HhRICHS TN hl Tg=H hHIT | 1
(A) 38 U fova i Hiehiceh liet 1 B 2l B |
(B) 359 UyYl fava H WEETeT TAT T YER BT B |
(C)  BHTY WU i hHd W AR TEhid H Seard 3711 3 |
D) 359 faftw e | gurl v o1 SR §9¢ 9T g |

17.4 F=fRad § § HH-A1 I AEhideh SvdHLul I IR g ? 1
(A) I8 gaR R H AR @M, FH qu1 gg 311e sl gwied et @ |
(B)  EHR Hrad <l UfshaT W I Y9G & ugdr |
()  foerrasiiar gun @ anfdes Jehe™ BT B |
(D) AT GEATd HESR Bl 8 |
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18.

19.

20.

21.
22,

frfafaa staao st eamgdes afeu qen gHeh I fIU MU gl % I AN 4x1=4
AT & 91g & AT T1el | Teh a2l a1 Ig off 7o 1 T 99 <t 7im & <91 61 b1 W

AT et | 3rereRt off fob AU wTeTE TS H STerTeaTg i e guht 3R qa-ffta wwrdlw ay

T GEE T | T o Go1d | HMNGTHR Aqcdl W o IR R TSAT o TS 1 BT SR |
Iufle off foh 3R 8T 3cATh o &9 31 WIS @4 & 7 o/ T a1 Sedn 3R ITATEETe

EAR § HH AT | 3ok ITATET S T Sl HFAT 3T WIET o YN G A TSAT 1 TS hTAT

Teh AlhdIfIeh el o &9 1 off 2@1 T |

18.1  WINTS 3MYR W §4 AT Igell U5y FHfeAfad § § hI9-|7 o ? 1
(A)  HTgE
(B) 3y Uew
C) W
(D) Hard
18.2  WRA TR J TSAT <hi Tt o gafeier o fore s fopam o 2 1

(A)  I2 aen i &% fu die <Ier™ o 9ree @ TR |
B) ot gEfud TsA # SHEG-GUE AT T |

(C) 1956 T T T 31T fgeh feham T |

(D) 1953 ® T YHieA A i Fgfe i 8 |

18.3  TSAl & YIS o qid S1g fohal TST AT shg-SMd & & 2 1
(A) 14 TST AT 6 hrg-IMHT &
(B) 16 UST qUT 7 hrg-SITEd &
(C) 18 TSY YT 6 Shrg-SNMTEd &
(D) 21 TST AT 7 hrg-IMHA &

18.4 f=feafad ame =t -1 foshed TE &1 8§ U Rl & ? 1
qT9TS SR T TSAT b G & |
(A) Tt IR TEsEl et
(B) WS TSAT 6 oM 1 fodie gam
(C)  fofvreran o fogra =1 wefispla H g3
(D)  wRa # Tl o Tl e

@Ug T
LEATTRT H S TTIRSAT H g T Hey o TR 1 foretyor i | 2
A S B T TR 1 Tk I F AT T AT B 2 T HINC 2
e I 1 fea A F IS P I LT IR HITC | 2x1=2
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